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Answer all guestions.

1. Which of the following is a linear polymer containing glycosidic bonds.
1 Glycogen 2. Glucose 3. Sucrose 4, Cellulose 5. Ribulose

2. Polysaccharide which is made of polymerization of glacto urinc amd is the major component in
1. Middle lamella : '
2. Primary cell wall of plant cells
3. Cytoplasm
4, Piasma membrane
5. Exoskeleton of insects

3. The pair of purine bases in RNA
1. Adenine and guanine 4. Guanine and cytosine
2. Cytosine and uracil 5. Adenine and cytosine
3. Adenine and uracil '

4, Select the correct statement

1. More elastin fibres are found in figaments

2. Nerve fibres and blood vessels are found in cartilage

3. Pores of spongy bones are filled with blood

4. White fibrous cartilages are found in inter vertebral discs
5. Compact bone are not strong as spongy bones

5. Presence of high adhesive and cohesive forces of water dose not contribute
1. To provide support in herbaceous plants
2. In movement of guard cells
3. Toascentofsap
4. To grow aquatic plants and algae in deep water*
5. In blooming of flowers
5. W‘men plant is provided with H,0 labeled with ** .0 and normal CO,. Which one of the following contzins

18 .0 isotope after photosynthesis? :
1. Evolved O, 3. Stored starch 5. Non of the above
2. Produced CgH,,04 4, InRuBpP
Select the incorrect statement regarding proteins
L. All proteins are made up of one or more polypeptide chain
. 2. Prionsare protems which has the ability to multiply i__t_hi_n_ living cells .
o 3 Catalase is a catalytic | hich. 'drolyses H,O;

=l

'D gest worn out 'organelles"'
Helps in cell death by autolysis




9. Which of the following is not a characteristic similar to both skeletal muscle fibre and smooth muscle .
fibre ?

1. Unbranched nature .
2. Nervous supply only from autonomic nervous system
3. Neurcgenicin contraction
4.. Absence of intercalated disc.
5. Extensibility.
10. Select the correct sequence of events that take place in meiosis
A.  Formation of two daughter cells C. Formation of recombinant nodules
B. Separation of homologous pairs D. Pairing of homologous chromosomes
E. Arrangement of pairs of homologous chromosomes on the equatorial plane,
1. ABCDE 3. D,CBEA 5. G0 EpBLA
2. A CEB,D 4. D,C EBA
11. Which of the foliowing is incorract
1. 5um of all chemical activates in a cell is the metabalism
2. Cell uses energy released from catabolic reactions for anabolic reaction s to take place
3. ATP acts as an energy carrier in between reactions
4. ATP is an immobile molecule
5. When ATP hydrolyses to ADP, it release 30.6 Kj/mo!

12. Which of the following Is incorrect regarding C4 photosynthesis 7

Oxaloacetate is formed within chioroplast of mesophyl cells

Malate transport in to bundte sheath cells through plasmodesmata,

Within bundle sheath cell, pyruvate is formed after refeasing CO,

Pyruvate transport in to mesophyii cells again .

Calvin cycle takes ptace within bundle sheath cells at a high CO, concentration

i V. hich of the following is true ?

Sensary organs are absent in coelenterates

Digestive tract is absent in tapeworms

Blood circulatory system is absent in moilusks

Blood pigments are absent in Arthropods

Cephalization is absent in Annelids

14, \Nthh is not occurred in Kreb's cycle?

Production of ATP by substrate level phosphorylation

Production of 3 NADH molecules and a FADH, molecule from one pyruvate molecule.
Regeneration of citric acid from oxaloacetic acid

Production of CO, by decarboxylation

Production of 2 ATP from one glucose molecule.

. Given below are a few characteristic of an animal attached to rocks and other surfaces of marine

-
i
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attacheé to the substratum -

. “Holothuroidea . : olyplacophora
16. Ascomycota differ from Basidi mmycota because in Ascomycotes

1. Myceliumisseptate L s
. Dikaryotic phase is present. -
- Mtile strictures are absentindife cycl
Storage food is starch ' e
5 Sexual spores are endogenous.
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17. Which one of the following is not relevant in a comparison between Sargassum and Gefidium
1. Both of these organisms are multicellular
2. Both have chlorophyll a ,as photosynthetic pigment
3. Both have cellulose cell walls
4. Both are eukaryotic thallus forms
Both have flagellated cells
18, Whtch of the following is not a common feature for both Archea and Eukarya
Presence of several RAN polymerase
. Absence of peptidoglycan in the cell wall
Absence of branched lipid chains in plasma membrane
Not sensitive to streptomyecin
Methionine as a starting amino acid for protein synthesis
12. Some members of a certain animal phylum shows following characteristics,
a. Bear a caicified exoskeleton.
b. No cephalization
¢. Presence of ductless glands

bt e gl

The character that cannot be seen in the above phylum s,

1 Uniséxuality or bisexuality
2. External fertilization
3. Nerve ring and the radial nerves
4:  Asexual reproduction
5. Development through a ciliated larval stage
20. .Which of the following features are common to both groups of Reptilia and Mammalia?
i Nictitating membrane
i, Teeth within cavities
iii. Major excretory product as uric acid
v, Homoeothermic

V. 12 pairs of cranial nerves
vi. Glandular skin :
vil. Body divided into ; neck, trunk, and tail )
1. ac¢deonly 3. ¢egonly 5. a. b, egonly
2. d,,e.gonly 4, b,¢g,e fonly

21. What s the incorrect statement regarding muscle layers in the wall of alimentary canal?
1. They are mainly composed of smooth muscles

2. Autonomic nervous plexus are present between muscle layers.

3. Consist of peripheral longitudinal muscle layer and the inner csrcular muscie layer.
4. ____‘ihey pruduce aII types of movements inthe al:mentary canal.. '




23.

24,

28,

30.

1 Orlglnated from embryomc mldbram

Select the response correctly matches function , deficiency and the vitamins

Function Deficiency disease Vitamin !
F — needs for carbohydrate metaholism Q -Anaemia Y- cobzlamin .
G —needs for the synthesis of DNA and RNA R - pelegra X —thiamin '~
H —synthesis coenzyme needed for cellular P —degeneration of Z-nlacin !
respiration nervous system |
1. ERZ 2.G,0,X 3.H,RZ 4.F, R X 5 HPY

A plant tissue is allow to immerse In a sugar solution of solute potential -800 kPa and to reach the
incipient plasmolysis .Then it is immersed in pure water for 30 minutes .Later it is transferred into a sugar
sofution of -600 kPa solute potential and allowed to equilibrate . What is the pressure potential of the
tissue?

1. 1400 kPa 2. 800kPa 3. 600 kPa 4, 200kPa 5. OkPa

. Select the incorrect *egardmg the basic plan of human blood circulatory system.

1. The right arch of the 4™ pair of aortais lost

2 3“" pair cf aortic arches produces the pair of carotid arteries
3 1 and 5 " pairs of aortic arches are lost

4. 2™ pair of aorta arches produces the pulmonary arteries

5. Ventral aorta produces pairs of aortic arches

. Select the false statement about the structure and the function of human brain.

Hypothalamus — controls the autonomic nervous system
Cerebellum - coordinates involuntary muscle movemeant
Mid brain - controls the reflect movements of eye muscles

Cerebral cortex — control mental aciivities
Medulla oblongata — control the blood pressure

L3 N OV N

. Sﬂiect the materials transport through xylem

A —water B —sucrose C—starch D —inorganicions e- fructose

1. Aonly ' 3. Aeand Conly 5. AandE only
2. AandBonly 4, AandD only

Select the major transport material of carbohydrates in plants :

1. Fructose 3. Cellulose 5. maltose

2, Sucrose 4, Starch

Which one of the following is not an excretory product ?

1. NHg 3. AcetylCo-A 5. Bile pigments
2. CO, 4, H,O

Select the correct statement regarding hvpothatamus

There are no values wnhm Iymph ves.sels
h colie i

4, Thoracm duct opens to right subc!awan vein
5 Lymphatic system- mvo!ve on[y in specrf:c :mmumty
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32. Incorrect statement about human kidney
It is @ bean shape structure situated retroperitoneal in the abdominzl cavity.
ltis covered by a renal capsule made up of elastic connective tissue
Renal pyramids are striated structures situated in the renal medulla
Nephron receives blood through afferent arterioles which arise from the branches of renai arteries.
Peritubular capillaries drains blood into general circulation through the renal veins
33. Wh|ch of the following is correct?
1mm3 of blood of mature healthy person contain 560, ooo red blood cells
Platelets are fragments of cytoplasm with nuclei
White blood cells can reach to the tissue fluid through capillary walls,
Eosinophil are granulocytes without nuclei
Some invertebrates have haemoglobin within ells
34. Initial curvature of Colocasia petiole is measured as Q angle .Select the incorrect statement.
G is increased in a hypertonic solution
Q is decreased in a hypotonic solution
When tissue is immersed in a solution it comes to the equilibrium
This experiment is used to determine the water potential of tissue
Curvature is not change at pure water.
35. WhJch is not a structural adaptation of guars cells which is important in stomatal opening .
1. Guard cell are tightly bound to each other at two ends
2. Presence of curved lateral walls due to kidney shape
3. Presence of chloroplasts
. 4. Presences of cellulose hoops around the guard celts
5. Presence of thick wall, covering the stomata,
A
1
2
3

Do W m:r-w»suw
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36. A process that occurred due to stimulations of human sympathetic nervous system
Constriction of pupil of eye 4. Increases the peristalsis
Decreasing the blood pressure 5. Contraction of urinary'sphincter
Inhibition of sweating

37. Which of the followings is incorrect about human blood cells.

Basophils are modified into mast cells

Basophils activates in allergic conditions

Neutrophils has the highest number

Mainly they are produced in bone marrow

Thrombokinasis is not secrete by blood cells

38. Not an exocrine secretion, .

1. Mucus 3. Saliva 5. milk
2. Enterokinase . 4. Glucagon '
39. Select the correct statement about the selectwe ahsorptton in human nephron

bk W

‘4. Surfactant c.ells " _secretion of alveolar fluid -
5. Lungs - exchange of resplratory gases




Answer questions 41 to 50 using the given information.

|
I
|

1 | 2 3 4 5

41,

42,

43,

.73

46,

47,

B.
UG
L

ABand D correct | ACand D correct A B correct C D correct Other combination |

A, Amylase - Amylose 7 D. Pepsin-—Glycogen
B. Lipase-Inuline ) E. Pectin-Suberin

What is / are the pair/ pairs whlcb contain a protein and a polysaccharide respectively.

C. Glucagon —Cutine

What is/zre the true statement/s regarding guttation?

A, ltis a process that water is removed passively from the plant.

B. Water with sait will he lost through leaves .

C. Responsible to xylem transportation in plants

D. Wateris lost through hydathodes in leaves.

E. Thisis a process thal can be controlied and taking place only in some piants.

Select the animal phyla / phylum in which , animals use their body surface to exchange respiratory gases
A. Chordate C. Annelida E. Echinodermata
B. Arthropod D. Coelenterate

What is / are the functions of mid brain ?

A. Changing the size and the shape of the eye lens

B. Changing the size of the pupil

C. Maintaining the posture and balance of the body

D. Maintaining the blood pressure

E. Controlling the heart beat and respiratory rate

. Correct statement/s regarding hurman erythrocytes

Respire anaerobiczlly
It maintains high surface area volume ratio by its specific shape
Can leave out from blood vessels in some organs
Diameter is lesser than that of leucocytes
less abundant than that of platelets '
Se[ect the structure which contain haploid structures in Kingdom Plantae .
Pogonatum - protonema, capsule
Sefaginelfa - strobilus, archegonia
Nephrolepis — prothallus , antheridia
C}rras - endosperm , archegonia
Anthophyta - pollen grain , endosperm
Mh|ch of the followings are correct regarding the cardiac cycle ?
A. Duration of the cycle is 0.8 seconds
Atrio — ventricular valves are closed during the ventricular systole
Aorttc \ralves and ulmonary valves ar apened during complete cardiac diastole

moo® >

greorp

C. b,a,d,c_
D, c¢adb-




49. Select the incorrect combination . *
Floral parts of typical Angiosperm
Carpel
Stamens
Anther
Nucellus
Embryo sac
50.

PE MO0 w >

2NADP+ + de +44'
2ADP + 2P e 5.

4H20 ________________ S

Mmoo

PEP +NADPH S ————d DAA

Parts of Selaginella strobilus
Megasporophyll
Microsporophyll
Micro sporangium
Endosperm
Female gametophyte

lect the correct reactions related to C3 and 4 pathways of photosynthesis.
- 2NADPH +2H"

+ NADP
20, +4H" + 4e + 2H,0
Malate +CO; o = Pyruvate
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1. A)Following diagram shows you mechanisms involved in photosynthesis.
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I, Name the site of occurrence of X, y, and Z.

5
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b} Name the site of capturing CO, by A

Write the reduction reactions that take place in photosynthesis mechanism.

Name the enzymes that used in the process mentioned in the above ii (byandinz
cycle. i

Name two plants that shows the type of photosynthesis mentioned in the ahove

B) Given below are two graphs relevant to photosynthesis mechanism.
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fi. . Write three conclusion about photosynthesis that derived by the above graphs .

iv. Name the primary and final electron acceptor of the non- cyclic phosphorylation of
photosynthesis.

Primary electron acceptor

Final electron acceptor

(31

V. Complete the given table about C3 and C4 photosynthesis

Process C3 plants | C4 Plants

i

a. First CO; acceptor

b. Place of CO, fixation

c. First stable product

C)

i.  What do vou meant by tissue ?.

o T T TR TR LI L L L L T L R L TR LTI T P LTI PP T oo

ii.  Namethe two kingdoms of organisms that shows tissue level organization.

ii.  Answer questions a to d using the given diagram.

10
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a. Name the tissue given in the diagram.

b. Name the parts 1 -5 in diagram

Ve W oN e

¢. Name the main two parts of the given tissue
d. Write five characteristic features of the given tissue
2. A,
i What do you meant by nutrition?
ii. Name the mode of nutrient of the given organisms.
a) Blue non sulphure bacteria
b) Ntrisomonas
¢} Chiorophyta i s st

‘Name the elem
animals ..

11



i.  What do you meant by dental formulae ?

il.  Write the dental formulae of parmanent teeth and deciduous teeth

BB A e e b e b S RSB b o 4 bk e R R A SR SRR A e M RN AR R A ek S RO LB E e A A s

fii.  Write three microbial activities of which causes disease in oral health

iv.  Write four habits to maintain good oral health

v.  Explain what do you meant by balance diet with the nutrients shouid present in it.

BT T T T T T T YT P a e

T LT T arrravany P NI ESAEIITONAEIIANINARET Ia4AsARAsLdaRARTan

T PP T PR TR T T TP T

12
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ifi. How small intestine is modified to perform its functions.

Iv. Write three differences of the wall of large intestine that shows than its general
arrangement in gut wall.

i. Write a main feature of the given phyla of invertebrate that they differ from one
another .

a. Coelenterates-...n.
b. Annelida e S R SR T e S Tt s
c. Mollusca S s pen e e s R N BRSO PR R R
B T g T GO N o S
ii. Write the invertebrate phyla that possess the given feature
8. Triploblastic COBIBOMALES  ..v.uuuwsvesececesssesossesossse s oo sssses s s ses e
b. Triploblastic, aC0EIOMALES  wnueriveceeice e ers e sessssses s s st oeesreeneresmteee e

c. Bilateral symmetry

d. Radial symmetry

a. Turberlaria

T T BRI e e e

¢. Echonodrmata

13



B)

Name three groups of organisms that they exchange their materials by simple diffusion .

ii.  Write two reasons for the need of circulatory system as the size of the body of an
organism increase .

ili.  Answer the questions using the given diagra m.

head

b. Name the'groﬂps of animals that the above system is présent

14
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c. Name the two main types of circulation in the above diagram and the relevant
embryonic aortic arches that give rise to them.

Type of circulation Aortic arch

T

d. Name the artery and the vein that transport blood in to and out of the given organs.

organ Artery i Vein

Head

Liver

Intestine

iv. Name two substances found in blood vessel X and two substance added to blood vessel
Y from hepatocytes

- Name the two types of tissues that involved in transportation in flowering plants.

e T T T T E UL LT T IT LT

fi.  Write the three components of ‘Pressure Flow Hypothesis'.

15



iil. Answer the questions ‘@ to ‘¢’ using the given diagram

a. Name the parts ‘a’to ‘g’.

e R B s T
R e e o o PR
e s R e T S R
2 S =

b. Write the functions of parts ‘@’ to ‘g'.
B ettt s R e ehs s A i e £+ o8 4R 004 e s s ens e seen 4 seeeeesen et eenn sen s et SR e et s e eennns e ser b
G T e e oS S o S O e DI R e
O
e R R L T e S UL o n e pempaonemsmm e

o e MU Sl WL, SNSRI ./ ORI NI I BNNT- SO

................... T L B e e R L e R R A A e R T RS A e R e an BT R Ak A e s hmd ddm ke e e e T REE R EAEY R e gy
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lii. Name the two types of nephrons in kidney
Iv.  Write two differences of the above two types of nephrons ,
v. aj Name the parts of the nephron that forms the malphigean corpuscle .
b) Explain what type of blood passes through effrent arterioie
c) Name the types of blood ca pillaries associates with the nephron

d) Name the location of above two types of blood capillaries in the nephron.

‘What do you meant by co-ordination?

ii.  Name the two types of co-ordinations that takes place in human body.

R A A R e R R B N A A S ke F e R TR AR PR N e E bha RN e naa

iii.  Write differences between the above two types of co-ordinations.

5

17



V. Name the structural and functional unit of vertebrate nervous system.
Structural -
Functional -

vi.  Write the three factors needed to maintain the resting potential of neuron.

Part B — Essav Questions.

Answer four questions only.
1)
i Explain the location ,gross structure and tissue arrangement of human stomach.

ii. Expiain the structural difference between the arrangement of tissues in the stomach
wall and the wall of small intestine and it's importance.
2}
I, What do you meant by transpiration?
ii. What zre the internal and external factors that affect on the rate of transpiration?.
Explain the effect of those factors on the rate of transpiration.

i, Explzin the importance of reduction of transpiration for plants anc adaptations of

i

plants for that .

L

Writs shot notes.

i Nitrogenous excretory products in animals.

il Radial transportation of water in higher piants
il Water potential

4) Explain the ultra structure of DAN molecule and it’s self replication mechanism.

5

5} Write an account of blood celi based on origin , structure and it's function




